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In the picture below, m #TSK = 132°, mANDU = (5x+ 51)°,

MLMQG = (- +132)°, mATNT = (3x* +39)°, and mZEDU = (x’ + 21)°.

How many degrees is m£NDU?
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In the picture below, m #TSK = 131°, m£JD U = (=7x + 106)°,
mLEJN = (3x" +35)°, mLKJA = (3x° — 41)°, and m £DSM = (x* —167)°. How
many degrees is m./KJA4?

al ]
m

me

www.mrtownsend.com

criss_cross_L2_notes.gwb - 3/12 - Sun Oct 28 2018 12:39:18

ered by

ExamVie

"

In the picture below, m2HIN = 68°, m/MSU = (6x+91)°,

mZTSU = (<2¢ +145)°, m£PDU = (3x* —82)°, and mZREF = (x’ —231)".

How many degrees is mZTSU?
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In the picture below, m2 USM = 132°, mZGKD = (—4x+77)°,
mAPNS = (-2 +131)°, mZDEQ = (2" +49)°. and mZHKE = (x* + 21)’.
How many degrees is m/PNS?
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In the picture below, m2CDH =129°. mA/TCA4 = (-2x" +213)",
mZVTS = (2% +111)°, and m£ VEN = (x* +267)°. What is the value of x?
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In the picture below, m£ QTD = 49°, m ZLJS = (-2x +139)°,
mLMHQ = (-3x" +151)°, and m£QCD = (=" + 33)°. What is the value of x?
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In the picture below, m2TKN = 48°, m/CDH = (-2x" +140)",
mZDHL = (2x° +130)°, and mZDHQ = (—x" + 34)°. What is the value of x?
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In the picture below, m£TJQ = 52°, mATJL = (2¢° +110)°,
mZQCB =(-3x" +169)°, and m£OKF = (x* + 65)°. What is the value of x?
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In the picture below, m ZEAN = (-Tx +96)", mZRE4 = (3x +19)°, In the picture below, m ZPAB = (<Tx+ 101)°, mZABH = (3" +36)°, ]
mZCEM = (2 +13)°, and mZNDA = (—" + 199)°. How many degrees is the mZNHB = (-2x* + 119)°, and mZHEA = (— —58)". How many degrees is the 2
measure of Z/RHN? measure of ZEDH? %
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In the picture below, m ZLHK = (9 +92)", mZFBH = (-3x° +82)°,
mZDEB = (-3x" +76)", and m ZMAB = (x’ +38)°. How many degrees is the

measure of ZFAD?
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In the picture below, m ZEBF = (8c+ 126)°, m£DHB = (-3x" +82)",
mZREP = (-3x"+79)’, and mZGEA = (x’ +51)°. How many degrees is the

measure of ZLDP?
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